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INSTRUCTIONS
1. All questions are of objective type having four answer options for each.

2. Category-1: Carry 1 mark each and only one option is correct. In case of incorrect answer or
any combination of more than one answer, % mark will be deducted.

3. Category-2: Carry 2 marks each and one or more option(s) is/are correct. If all correct
answers are not marked and no incorrect answer is marked, then score = 2 X number of
correct answers marked + actual number of correct answers. If any wrong option is marked or
if any combination including a wrong option is marked, the answer will be considered wrong,
but there is no negative marking for the same and zero mark will be awarded.

4.  Questions must be answered on OMR sheet by darkening the appropriate bubble marked A,
B, C, or D.

5. Use only Black/Blue ball point pen to mark the answer by filling up of the respective
bubbles completely.

6. Write question booklet number and your roll number carefully in the specified locations of
the OMR Sheet Also fill appropriate bubbles.

7. Write your name (in block letter), name of the examination center and put your signature (as
is appeared in Admit Card) in appropriate boxes in the OMR Sheet.

8.  The OMR Sheet is liable to become invalid if there is any mistake in filling the correct
bubbles for question booklet number/roll number or if there is any discrepancy in the name/
signature of the candidate, name of the examination center. The OMR Sheet may also
become invalid due to folding or putting stray marks on it or any damage to it. The
consequence of such invalidation due to incorrect marking or careless handling by the
candidate will be the sole responsibility of candidate.

9. Candidates are not allowed to carry any written or printed material, calculator, pen, log-table,
wristwatch, any communication device like mobile phones, bluetooth etc. inside the
examination hall. Any candidate found with such prohibited items will be reported against
and his/her candidature will be summarily cancelled.

10. Rough work must be done on the question booklet itself. Additional blank pages are given in
the question booklet for rough work.

11. Hand over the OMR Sheet to the invigilator before leaving the Examination Hall.

12. This booklet contains questions in both English and Bengali. Necessary care and precaution
were taken while framing the Bengali version. However, if any discrepancy(ies) is /are found
between the two versions, the information provided in the English version will stand and will
be treated as final.

13. Candidates are allowed to take the Question Booklet after the Examination is over.
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(as in Admit Card)

Signature of the Invigilator :
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PHYSICS
Category-1 (Q. 1 to 15)

(Carry 1 mark each. Only one option is correct. Negative marks: —%4)

1. When a force F= xy2§+xzy3 N acts on a particle and moves it along a straight line from
the origin to the point (4, 0), the work done is,
GFfB T F=xy’i+x°y] N T4 G516 T Sofx fma 90a b ey (20 v7el @l

T (4, 0) e MRS @ ok F© IR A 2F
(A) 201 B) 751 (C) 651] (D) 0

2. When a spring is stretched by x amount, the potential energy stored in it is E. When the
spring is stretched by another x amount, the potential energy stored in the spring becomes

!

E'. Then %is,
G3fo P x SAfe BE O T E s Bfoxifes wfew 23 | oo wms x ffimd
Bie TG fEfoifes =7 E/ | orRee %-aaws’a,

A) 1 (B) 1/2 (C) 1/4 (D) 4

3.  An artificial satellite is moving in a circular orbit around the earth with a speed equal to
half the magnitude of the escape velocity from the earth’s surface. The height of the
satellite above the earth’s surface is [R = Radius of the earth]

g3 Fa¥ Tolar, R B PeReR WET @ AT vice Joree IeF Al
FAE | A AT P T ToigzBa Tl TF (R = RS 014,

3 R
(A) 2R (B) 3R © 3 (D) R

Consider the two different situations X and Y of two concentric coils of N and N> turns
and radii R and R respectively as shown above. If the magnetic field at O in situation X is
Bx and in situation Y is By then Bx—By is
for@ e I Ny 8 N, Feoat 72y [Kf¥® @2 R, 8 R, y9E 72 7ft Teime goaq
i foq <@ X ¢ Y o 99 | ;W X S_E % O-1S BIFS (@9 M B, T 8 Y
SREIA (Y O-T© (HIFSF TH(@ W9 By T SR By—By -9 W T,

IN IN IN IN
W TR ® © & ® g
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As shown above, a hollow cylinder has a charge q within it. If @ is the electric flux through
the curved surface ‘B’, then the flux linked with the plane surface ‘A’ is,

b emffe qalb F=il Bited o q W 1S | Blefba Iw7wa B’-3 w7 facw ofes
TR W I & = O3 OB TS 5D “A’-G9 Ny A ofes FIHER W 23,

1
) 5= (B) (&_q)j © {f;—cbj o 3

280 €

6. A particle is moving in a straight line with simple harmonic motion of amplitude ‘A’. At a
distance B from the mean position, the particle receives a blow in the direction of motion
which instantaneously doubles the velocity. The new amplitude A’ will be,

qfe T <A’ [RBI7 R 7 WieTsfsre 37ee @2 R AR T2 | T 797 5y g
(AT B 7R0Q ST ©F Fiioe oifoq sfoqy usfb <= el S o @9 faed 2 |
I T [ A’ T(J,

(A) J4A2-3B2  (B) 2A (C) [3A2-4B2 (D) A

7.  Five molecules of an ideal gas have velocities 2, 3, 4, 4 and 5 m/s. If their average velocity
is v and their RMS velocity is v, then

R S R S @99 @ A 2, 3, 4, 4 8 5 m/s | IM O 18 @ v TT @e
RMS @ v, B O(F,

A) Vi >v? (B) V=V (C) Vi <V (D) Vv V=1

8.  An electron of mass m and a photon have same energy E. If their de Broglie wavelengths

are A, and A respectively, then % is proportional to,
p

m (R G5 LG 8 GFMo (FH *fe E 7T | I Sima f&-Foifel Sy I
A, 8 xpw,wie -3 W N AR TS 2

p

(A) E (B) +E
(C) E12 (D) independent of E - &3 0% F=oFa
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9.  The variation of voltage V with charge Q of a capacitor is shown in the figure. The area of
the triangle OAB represents,

(A) Capacitance (B) Magnetic field between the plates
(C) Inductance (D) Energy stored in the capacitor

OFf5 GRF LT Q-9 ATF TS V- A« @@ M TE® | TCFE@, OAB
fagter traze e« @ 2
V.

A
0 B Q
(A) 4999 (B) HITFA {3 SO WF (I C(@d AR
(C) === (D) 4= e *fee

10. The given figure shows the variation of pressure P versus density p for an ideal gas at two
temperatures T1 and T». Then,
awie wal T) 8 T, Swom «f S IR 999 p 8 B9 P-9F (K7 =90 A
I | OIR(,

(A T,>T, B) T, =T, (C) T,<T, (D) T2=T,

11. A thin uniform rod of length L and mass M is swinging freely about a horizontal axis
passing through its end. Its maximum angular speed is ®. Its centre of mass rises to a
maximum height of

L (md7 8 M ©F 2 436 37 @9 1 O 4T AR Sq9iE SCFd AITE e SkgH
S TER | REHd AL FOF @9 TH o | O TOH OAFF ([ 84T Svool

MECE CEICACEICH
1 Lw 1 L2w? 1 L2w? 1 L2w?
(A) 5 B) 37, © 374 D) 574

12. A convex lens of focal length 10 cm produces a five-times magnified real image of an
object. What is the object distance ?

10 cm TFIFF (757 42 @b Tea 71 «fb I3 e [Rafds miky I | &
WAEWIRQ 9 ?
(A) 36cm - (B) 8 cm ©) 12cm» (D) 10 cm
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13.  The velocity v of a particle as a function of time t is given by v(t) = v (1 — ¢ ). The

dimension of v /a is

ST t-99 ACATE G0 FAR @ v, v(t) = v,(1 — e M)ANFae S I e | ieee@
Vv, /o - W@ e

(A) LT! (B) LT?

C© L (D) Dimensionless (V@Z)

14. A particle is falling freely from height h to the ground. (Where h << R and R = Radius of
the Earth). Which of the following figure most correctly depicts the acceleration ‘a’ of the
particle as a function of time t (neglect air resistance)?

@B Foll h Trpo! (AT IR ST §@ “fe® 2" (WA h << R 8 R = A3 I079) |
TICF@ Mo @ ERbEB AT a9 ML F9be 999 a’-a7 RSy TReE e ©
O S0 (I TSR A4 ST 39) 2

(A) (B) l i (©) lg (D) l {
—>t t t t

15. Let g(t):3t§+4t23 and rz(t):4t2f+3t3 represent the positions of particles P and Q

respectively as function of time t. The relative speed of the two particles at the instant

t =1 sec will be [consider g(t) and rz (t) are in metres and t is in seconds]

WA FF 1, (1) =3t +417] R 1(1) = 471 +3t] ANFINGT T -3 ACCF P 8 Q o
FAR SREA W FE | PIOF@ t=1 TS TN A qfod 17 ACAFRFE @9 9 (47 78
5(t) 8 1, (t) FOIE @ t CIts FifEe |2

(A) 1132 m/s (B) 5~[2m/s (C) 3\2m/s (D) 1m/s
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PHYSICS
Category-2 (Q. 16 to 20)

(Carry 2 marks each. One or more options are correct. No negative marks)

16. A conducting circular loop of radius ‘a’ and resistance R is kept on a horizontal plane. A
vertical time-varying magnetic field B = 2t is switched on at time t = 0. Then which of the
following statement(s) is/are correct ?

(A) Induced emf varies linearly with time t.

(B) Power generated in the coil at any time t is constant.

(C) Total charge passing through any section of the coil between t = 0 and t = 2 is 4ma?/R.

(D) All above statements are correct

‘@’ I 8 R @K (R @36 Jer R FoaE Sefie @ 4 TF | B = 2t

IEAFR AN I AT GF> BT THACE t = 0 I ble] I HA | PICH(E B

@ St (efe) fd?

(A) wIRE Req T (-9 AL FIARRST FoAF oA 27|

(B) TGS TGS FAO! I -G IATE L33 |

(C) TECAR @ I ST oo M@ t = 0 8 ¢ = 2 FAAER I OGS LIS T
T’ 4ma?/R |

(D) TER R S wdw |

17. A particle moves along x-axis following the relation x =4(t—2)+a(l— 2)2 , where x is the
distance travelled in time t. In that case, which of the following statement(s) is/are true ?
(A) The particle is at origin at t =0
(B) Initial velocity of the particle depends on ‘a’.

(C) Acceleration of the particle is 2a.

(D) The particle comes to rest att =2—2/a

GFB FA x-TF IARE x = 4(t—2) +a(1—2)* TFF SR T I, TAE x TA t AN
SfOTE TG | TICHE NGA (T Siei( ofer) Ao 2

(A) t=0 S el JARTCS SEH |

(B) FG3 ofieifse @ a’-9q3 TR o= |

(C) b7 974 2w 2a |

(D) FlfB t = 2—2/a T 83 SRGY =CH |
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18. Two different coils have self-inductances L1 = 8 mH and L, = 2 mH. Currents in both coils
are increased at a same constant rate. Also, at a certain instant, the powers given to the two
coils are same. If I1, V1, U; and I, V2, U represent the current, the induced voltage and the
energy stored in the first coil and in the second coil respectively at any particular instant,

then which of the following is/are correct?

w6 FGeA FIE IAGFE L = 8 mH 8 L, = 2 mH | & 7o NHJ O T @F2 2R
S T T | FEA {6 K7 HlfeT® ST FIo8 U | IW @R ZCS 22¥ @ T
FEOAT W ©fee AT, WiE e ¢ Afwew e AT 1, V), U 8 b, Vs, U TT OE@

FE3 A (Fef) A5
L Vil U 1 :
(A) E =7 (B) V_2 =7 ©) U_2 =2 (D) Vlis constant (VIIF)

19. A ray of light of wavelength A incident at an angle 45° on the surface of a slab of ice of
thickness 1 m is refracted into it at an angle of 30°. Speed of light in vacuum is ¢ m/s. Then

which of the following statement(s) is/are correct ?
(A) Refractive index of ice is V2.
(B) Wavelength of light in ice is A2

(C) Speed of light in ice is s

NG
\[8/3

(D) Time taken by the light ray to cross the ice-slab is o sec.

A\ SRS [T @S SRR 1 m @4 REE @ Ta0wa SRR B919 450 e wiefes
TH @I IAFF WL 30° @ SRS 2 | {o WU AR [ ¢ m/s T NG
FR(EM) Sfeh(ef) s 2

(A) A ST A /2 |

(B) IAFA WL @ SR OHAD T /2 |

(C) JAFA NG @ SR @9l iz m/s |

NG

(D) WE@%WWWWW@@WW
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20. One mole of an ideal gas in initial state A undergoes a cyclic process ABCA as shown in

the figure. If the pressure at A is Po, then which of the following statement(s) is/are correct ?

VA
AVol oo B
Vi -f=—=—= A
C :A
: ST
To -

(A) Internal energies at A and B are same.

(B) Work done by the gas in process AB is P,V,In4.

(C) Change in internal energy in complete cycle ABCA is greater than zero.
(D) Temperature at C is 4To.

T T AR G5 S R SoF SREA A T(F F I ABCA & sffemailt 3oy
2o | M A SREI 51 Py T (R MR (FIN(TFH) SfeslB( wfer) o2

VA
AVol oo B
Vi -f=—=—= A
C :A
: ST
To -

(A) A 8B SR SoEd e T |
(B) AB 3 $© I N9 TF PV, In4 |
(C) ABCA (e SoRdd *fea s *oy (& & |

(D) C SRZA THO T 4T, |
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CHEMISTRY
Category-1 (Q. 21 to 35)

(Carry 1 mark each. Only one option is correct. Negative marks: —%4)

If dissociation constant of acetic acid is 1.6x107°, the hydrolysis constant of sodium
acetate is

I G Sfied REe 19 1.6x107° =¥, O3 G snifsieEe staf<erae S
(A) 1.25x107° (B) 1.60x 1071 (C) 0.65x107 (D) 0.625x 107

The standard reduction potentials (E”) for the following half-cell reactions are
In** +2e==7n E'=-076V

Fe?" + 2e == Fe E0=-044V

The (E®) for the cell reaction Fe’" +Zn — Fe+Zn”" will be

(A) -035V (B) 035V © -117V (D) 117V
fyfeiiie St @ (half-cell reactions) &/t efiet ferzet fiex &=
In**+2e==7n E'=-076V

Fe?" + 2e == Fe E0=-044V

Fe’* +Zn — Fe+Zn>" (31 Rfeafbs EMF @3 9 2@

(A) -035V (B) 035V © -117V (D) 117V

Which of the following is not paramagnetic ?
AG (FAG JRGFRT (paramagnetic) 7 ?
(A) H," B) O, (C) 0O," (D) 0,

In which of the following compounds, iron (Fe) has the lowest oxidation state ?

e Terefer (FINBre SRR AWy (EeTe! A T ?

(A) K;[Fe(CN)(] (B) FeSO,.(NH,),S0,.6H,0
(C) Fey,,0 (D) Fe,(CO),

The pair of molecules having identical shape is

o SIS I&= Srgele gel

A) PCl,, BF (B) PF.,IF (C) XeF,, CO (D) CF,, SF
3 3 50 105 2 2 4o Oy

During extraction of copper (Cu) from its sulphide ore, which of the following compound
is used to reduce the Cu,O to Cu ?

FAER ATFIRT FFEF (AF FAR g 7w Fafefis @ @9l IR Cu0 &
Cu -9 R@fve Far 23 2
(A) FeS (B) Cu,S (C) SO, (D) CO

Paper- 1 10 ﬁ O
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Which reagent will be used to remove SO,” ion from the solution containing SO,” and

CIl ions?

@i ReRe 92 IR 730 TARe S0, @R CI7 SRE 22O SO, SIFAED RR9®

EEIGK

(A) NaOH (B) BaSO, (C) Ba(OH),

IUPAC name of the following organic compound is
CH, CH;

H,C—C CH, CH OCH,
(A) 4 —Methoxy — 2 - methylpent — 1 — ene
(B) 2 —Methoxy — 4 - methylpent — 4 — ene
(C) 4 —Methoxy — 2 - methylpent — 2 — ene
(D) 5-0XO - 2,4 —dimethylpent - 1 — ene
Woa terq =B [UPAC I =&

CH, CH,

H,C=—C CH, CH OCH,
(A) 42 - NAZAHB - 1 -89
B) 2 - -4 - NAZAHS — 4 - 3
(C) 4-—TfF—2-NAZAFG -2 - 37
(D) 5—SCH 2.4 — SIEAAZACHG - | — 37

(D) Mg (NO3)2

How many atoms of an acidic hydrocarbon of molecular formula C,H, lie on a straight

line ?

C,H, W e (KRR aai wiFeas JR@TEE Tl AT 9F AR <G

PCa?

(A) 4 B) 5 (C) 6

The total number of all the isomers possible for tribromobenzene is

R RERIGER TEIRY AF FANAEL (N6 AT T

(A) 5 (B) 4 (C) 3

Paper-1 11
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Among the following compounds the compound which has the highest solubility in water

is

(A) Phenol (B) Benzophenone
(C) Benzoic acid (D) Sodium benzoate
frgfefie t@arefera sitay (@ Cafba ot STfss wRre! IR T 74
(A) T (B) T&ETTEN

(C) T sufe (D) TSI (A&’

Conjugate acid and conjugate base of HO(CH,);NH, are respectively
HO(CH,);NH, &3 Srad SHIfe Gae 19 Tel AN

@ e
(A) HO(CH,),;NH, and (432) O(CH,),NH,

® S]
(B) H,0(CH,),NH, and (€3%) HO(CH,);NH

@ S]
(C) HO(CH,);NH, and (43) HO(CH,);NH

@ ©
(D) H,O(CH,),NH, and (4®) O (CH,);NH,

Two separate bulbs contain ideal gas A and B respectively. The density of gas A is twice
that of B and the molar mass of gas A is half that of B. If the two gases are at the same
temperature, the ratio of pressure of A to that of B is

wft et A S AT A 932 B A4 SIR | A SR W9 B AR ¥A0eF fRed @ae A
MER AT O B R ST 2, G2 SHN@AR A G B @3 IR S
(A) 1:1 (B) 1:4 C) 4:1 (D) 1:2

The dimension of the coefficient of viscosity is given by
MGl BAF-A W@l 2|
(A) L72T32 (B) MLIT? (C) ML IT! (D) ML?T?

In a first order reaction, the concentration of the reactant becomes 0.0625 of its initial
concentration after 2 hours. The half-life of the reaction is given by

(A) 1.0hr (B) 0.5hr (C) 0.75hr (D) 0.25hr

@fe aNey [, [ v 26837 2 701 #it7 Rz e 1S «16res 0.0625
wd 7Y | [Aferaba sy e 2=

(A) 1.0F0! (B) 0.590! (C) 0.75 90!
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CHEMISTRY
Category-2 (Q. 36 to 40)
(Carry 2 marks each. One or more options are correct. No negative marks)
36. Which of the following statements about P4Os and P4O1 are correct ?
(A) Both form oxoacids H3PO3 and H3PO4 respectively.
(B) In P4Os each ‘P’ is joined with three ‘O’ atom and in P4O10 each ‘P’ is joined with
five ‘O’ atom.
(C) In P4O¢ each ‘P’ is joined with three ‘O’ atom and in P4O10 each ‘P’ is joined with
four ‘O’ atom.
(D) In P4O¢ each ‘P’ is joined with four ‘O’ atom and in P4O19 each ‘P’ is joined with six
‘O’ atom.

AR o 3ol /R3S Pi0s «ae P40, oIS w2

(A) ToT2 SRy WG 159 (I IAGEH H3PO3 932 H3PO4 |

(B) PiOs (T 2ffSfs P ol 07 “MY o« T TS AT, P40y WA fefl P’
ABH <O’ Y 9 MR T A |

(O) a0 @ S P foris 0 “Aa1Y 4 T TS AT, P40y WA fefl P’
BRI ‘O’ #1193 ML & A |

(D) P40¢ SIHE® 2B P’ 5 ‘O’ 29 «F MR T& A, P40y TH2© A P’
T30 O’ 7Y «F AL T& AT |

37. Which of the following aqueous mixtures will function as buffer ?

e i wa Sl /fef e g3 e 9% 3@ 2

(A) NaCl+ NaOH (B) Borax + Boric Acid
(C) Na,HPO, + NaH,PO, (D) NH,Cl+NH,0H
38. The product(s) formed in the following reaction is (are): / fN(5= Rfemarg Te s @it (fer) ze:
Br, /' NaOH
CICH,COCH; -
— — +
(A) CICH,COONa' (B) CHBr, (C) CHCIBr, (D) CH,COONa

39. Which of the following have all equivalent canonical structures ?

frfafre wRba/Fmefem FR A 95 Freay
O
© " @ NH;

(A) CO.>  (B) KC

@
C—CH, (C) H,C-CH=CH, (D)
C
BN N\,

40. How could you increase the extent of adsorption (gas adsorbed per unit mass of solid) of a
gas on a solid surface in case of physisorption ?
(A) By increasing the temperature. (B) By lowering the temperature.
(C) By grinding the solid into powder. (D) By lowering the gas pressure.

TGN S T A ORI W (FBeE oS qoa ©ra wieriite mem
sfferaer) SN ASCI 7 (TSI SR TF(Q)

Paper- 1 13 ﬁ O
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BIOLOGY
Category-1 (Q. 41 to 55)

(Carry 1 mark each. Only one option is correct. Negative marks: —%4)

‘Bad Ozone’ is found in
(A) Stratosphere (B) Lithosphere (C) Hydrosphere (D) Troposphere
e S&’ NS AT 9T I

A) “Gefeme (B) fifeam (C) zWeEPwa (D) Frifwas
Which one of the following membranes surrounds the heart ?

(A) Pericardium (B) Pleura (C) Mediastenum (D) Diaphragm
fafeiee fRiferefrs tomb efrem e

(A) T (B) o= (C) TafEmBa (D) W«pRAl
Golden rice developed by genetic engineering is able to produce excess amount of

(A) Vitamin D (B) B- carotene and ferritin

(C) Biotin (D) Vitamin C

ST g @rwt (o oIS A2 K T SLAm FH

(A) febfimfe B) 61 Al 8 b

(C) <z (D) fobifim for

Which one of the following malarial parasite has the longest incubation period ?
fRafefe e RERef W @Rbre Ades SARFEHR T Wl I ?

(A) Plasmodium vivax (B) Plasmodium malariae
(C) Plasmodium ovale (D) Plasmodium falciparum

In which era reptiles were dominated ?
(A) Archaeozoic era (B) Palacozoicera (C) Mesozoicera (D) Coenozoic era

T, 9T A Afors Sifgerey foe ¢
(A) wfFstEie qdt (B) hmffersiie @3t (C) wWeme<e «dt (D) P gt

The respiratory centre in human brain is located in
(A) Cerebellum (B) Hypothalamus (C) Medulla oblongata (D) Spinal cord

TR NS (FH, W PTOES (7Y O8O ?
(A) TR (B) TBCAMEANT (C) TG Sl (D) IS

Okazaki is known for his contribution in the understanding of which one of the following ?
(A) Mutation (B) Transcription  (C) DNA replication (D) Translation

fryfeie FRb RRIER @ sFefca S SR ?
(A) feEaH (B) GrfEmoem (C) DNA @, (D) G

Paper-1 14 ﬁ u]
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48. Which one of the following is true as per Chargaff’s rule ?

BIRE-3 9@ PR RS et Ao 2

(A) A=C (B) A+G=T+C (C) G=T D) A+T

G+C~

1

49. Which one of the following is the initiation codon for synthesis of protein in eukaryotes ?

fryfefReefem 3 b SSHfEE-aa (o Ferrae e e ¢
(A) GUG (B) UGG (C) AUG (D) UAG

50. The edible part of mango is

(A) pericarp (B) exocarp (C) mesocarp (D) endocarp
SR CoTery et 2e
(A) TeQF (B) dfxE= (C) THBF (D) RIS

51. ATPase enzyme needed for muscle contraction is located in

(A) actinin (B) troponin (C) myosin (D) actin

TP FRCFIBTR & (8 ATPase SSTHH(G AT, ©f &7 W4 AE

(A) wnfEfm (B) TR~ (C) A (D) wuifgs
52. Which of the following plant parts is used to obtain haploidy ?

(A) Embryo (B) Cotyledons (C) Apical buds (D) Anther

fTafefae Sfoneea (FRh 223G S AME 492 27 ?

(A) = (B) <A@ (C) TP (D) ==

53. Which of the following cell organelles does not contain DNA ?
(A) Nucleus (B) Lysosomes (C) Chloroplast (D) Mitochondria
e tere sEreefers T (INEE DNA A0 1 2

A) FefFam (B) RS (C) TFRAAFS (D) rEGRG

54. Down’s syndrome in human occurs due to following chromosomal disorder :

(A) 21-trisomy (B) 18-trisomy (©) XXY (D) XO
RS ©ISH Jffe Praggs Myfefie [@ieeea e abd F1ke 9%
(A) 21-GBf (B) 18-GRGAN (C) XXY (D) XO

55. The waxy substance associated with the wall of the cork cell is
(A) Cutin (B) Lignin (C) Pectin (D) Suberin
frafefe smidefam g b Sfemm 73 IR b T I 2
(A) e (B) fersfaw (C) ToAfon (D) A==
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BIOLOGY
Category-2 (Q. 56 to 60)

(Carry 2 marks each. One or more options are correct. No negative marks)

Which of the following are examples of intra uterine device ?

(A) Cervical cap (B) Lippes loop (C) Multiload 375 (D) Vaults
fryfeiesfe T TR soRaH oy fTeRER Sngad ¢

(A) FAROIEFIE T (B)  ferrssi 4 (C) WFBGIe 375 (D) ©°b

Identify genetic disease(s) from the following :
(A) Phenylketonuria (B) Gonorrhoea (C) Haemophilia (D) Leprosy
e (AP / 8feltE w1

(A) feaRafeor (B) s (C) farwifeferan (D) 39 (Leprosy)

Which of the following elements are considered as micro-elements for plant growth ?
(A) Manganese (B) Molybdenum  (C) Potassium (D) Cobalt
frafefis Sammefem ey wRefa Sfema Iface MErerehors & e 3 2
(A) e (B) WfeRreA (C) =i (D) TIRIFG

Component of cytoskeleton present in a cell are

(A) Actin and myosin

(B) Actin and microtubule

(C) Myosin and microtubule

(D) Actin, microtubule and intermediate filaments
(RIS MEECEFBIE SAmmef g

(A) =T 8 EREH

(B) 0T 8 NE(FHORS

(C) W™ 8 MIFIHSRE

(D) S, REFHERee ¢ THRINEEE FAs,

Which of the following are opiate narcotic ?

(A) Barbiturates (B) Morphine (C) LSD (D) Heroin
frfefie mef sifes ereh sms & ¢

(A) ARRBEEA (B) e (C) @ @fe (D) TRGAEA
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ENGLISH
Category-1 (Q. 61 to 80)

(Carry 1 mark each. Only one option is correct. Negative marks: —%4)

61. Choose the most appropriate option to fill in the blank to complete the sentence most

meaningfully :

I’1l just tell the professor that I him when he told us when the paper was due.
(A) used to misunderstand (B) must have misunderstood

(C) could misunderstand (D) should have misunderstood

62. Choose the most appropriate option to fill in the blank to complete the sentence most

meaningfully :
Her silence was taken as agreement.
(A) hostile (B) tacit (C) overt (D) general

63. Select the most appropriate pair of words to fill in the blanks in the same order to make the
sentence meaningfully complete :

The imposed was too to yield any result.
(A) high, fine (B) penalty, low
(C) punishment, harsh (D) toll, simple

64. Select the most appropriate pair of words to fill in the blanks in the same order to make the
sentence meaningfully complete :

Mr. Alex a boat and into the lagoon.
(A) hired, rowed (B) borrowed,ran (C) boarded, swam (D) saw, walked

65. Select the most appropriate preposition/word/group of words to fill in the blank to make
the given sentence most meaningfully complete :

There both the challenges and the opportunities.
(A) lay (B) lies (C) lied (D) laid

66. Seclect the most appropriate preposition/word/group of words to fill in the blank to make
the given sentence most meaningfully complete :

Do not waste time and energy in being jealous your rival’s success.
(A) about (B) with (C) of (D) for
67. Choose the most appropriate filler to complete the given sentence correctly and most
meaningfully :
Whichever way we approach the problem,
(A) no one will not solve it. (B) it will not solve.
(C) it will not be solved. (D) itis solvable.
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Choose the option, which can best replace the group of words given in bold italics :
She exhibited remarkable sangfiroid during the crisis.
(A) Temper (B) TIrritation (C) Composure (D) Anger

Choose the option, which can best replace the group of words given in bold italics :
A movement for the world unity is in the offing.
(A) Attheend (B) Abouttostart (C) On decline (D) In the air

Select that word which needs to be removed from the given sentence to make it
grammatically correct :

You should tell to me exactly what happened there.
(A) should (B) to (C) what (D) but

A sentence is given in active (passive) voice. Select the alternative which best expresses
the sentence in passive (active) voice :

Why do you waste time ?
(A) Why is time been wasted by you ? (B) Why is time wasted by you ?
(C) Why has time been wasted by you ? (D) Why time was wasted by you ?

A sentence is given in active (passive) voice. Select the alternative which best expresses
the sentence in passive (active) voice :

The beggar was being laughed at by them.
(A) They were laughing at the beggar. (B) They were laughing on the beggar.
(C) They laughed at the beggar. (D) The beggar was laughed at by them.

A sentence is given in direct (indirect) speech. Select the alternative which best expresses
the sentence in indirect (direct) speech :

He said, “I clean my teeth twice a day”.

(A) He said that he cleaned his teeth twice a day.

(B) He said that he cleans his teeth twice a day.

(C) He said that he used to clean his teeth twice a day.

(D) He said that he is used to cleaning his teeth twice a day.

Identify the erroneous part of the sentence :

(A) Most of the residents (B) were outside

(C) the building (D) when it was collapsed.
Identify the erroneous part of the sentence :

(A) A plan to set up a primary (B) school in the locality

(C) were in the minds of the (D) people for some years.
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76. Select the sentence which is grammatically wrong :
(A) Nothing but fancy food delights him.
(B) I cannot raise this load.
(C) This is the book that I want.
(D) The thief divested the woman from all her jewels.

77. Select the sentence which is grammatically wrong.
(A) Ishall inform them about this.
(B) He boarded the train.
(C) A bunch of keys have been lost.
(D) Ask his why he wastes time.

78. A sentence is broken in six parts. The parts P, Q, R and S are shuffled. Select the correct
option below to arrange these parts so as to form a complete and most meaningful sentence :

(1) There was a time when

(P) produced for itself most

(Q) each village actually

(R) it needed for

(S) of the things

(6) its everyday life.

(A) QPSR (B) PSRQ (C) QRSP (D) SRQP

79. L The speaker was laughed at for his antic gestures.
II.  Antique jewelleries are much in demand now a days.

Consider the two words in bold italic in the above two sentences and select the correct
option from below.

(A) Only sentence I is correct.

(B) Only sentence Il is correct.

(C) Both sentences I and II are correct.

(D) Neither sentence I nor sentence I is correct.

80. L Severe draught affected the crop production this year.

II.  Most humane approach of the new manager affected a notable improvement in the
team.

Consider the two words in bold italic in the above two sentences and select the correct
option from below :

(A) Only sentence I is correct.

(B) Only sentence II is correct.

(C) Both sentences I and II are correct.

(D) Neither sentence I nor sentence II is correct.
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LOGICAL REASONING
Category-1 (Q. 81 to 100)

(Carry 1 mark each. Only one option is correct. Negative marks: —%4)

81. In the following questions, some words are given which are related in some way, the same
relationship exists among the words in one of the four alternatives given under it. Find the
correct alternative :

Furniture : Table : Almirah
(A) Building : Wall : Brick (B) Fruit : Orange : Apple
(C) TV :Radio : Mobile phone (D) Sea: Sky: City

82. BEGK is related to ADFJ, in the same way as PSVY is related to
(A) QROX (B) PRUZ (C) 0QUX (D) ORUX

83. Select the pair in which the numbers are similarly related as in the given pair :
5:35
(A) 7:56 B) 3:15 (C) 11:132 (D) 9:45

84. There is a relationship between first two terms and the same relationship holds good
between the next two terms. Find out the missing term :
CAT :DDY ::BIG: ?
(A) CLL (B) BBL (C) czp (D) CLM

85. Select the pair in which the letter groups are similarly related as in the given pair :
CEH : IKN
(A) ACE: EGI (B) EFG:KMN (C) CDF:UK (D) OQT:UWZ

86. Choose the word which is least like the other words in the group :
(A) Zebra (B) Lion (C) Tiger (D) Cow

87. Choose a figure from the four alternatives which would replace the question mark ( ?)

D | ?
(A) (B) f} ©) {? (D)

88. The mirror-image of WHIT E is
(A) HLIHW B) ATIHM (C) ETIHW (D) ATIHW

89. A clock seen through a mirror shows quarter to three. What is the correct time shown by
the clock ?
(A) 2:15 (B) 9:45 ©) 9:15 (D) 8:15
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Choose the correct water image of the given figure :

Select a figure from amongst the four alternatives, which complete the given figure :

V1Y
.& ?
(A) z (B) gl ©) A (D) Ql

The six faces of a dice have been marked with alphabets A, B, C, D, E and F respectively.
The dice is rolled down three times. The positions are shown as:

Find the letter opposite A.
A) D (B) F € E D) C

When the following figure is folded to form a cube, how many dots would lie opposite the
face bearing five dots ?
| ]
o [
.. PY
oe
o0
o0 Q..
-4 P
A) 1 B) 4 €) 2 (D) 3
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If SPIDER is written as PSDIRE in a certain code, how would COMMON be written in
that code ?

(A) OCMMNO (B) OCNOMM (C) OCOMMN (D) OCMMON

If the letter PRABA are coded as 27595 and THILAK are coded as 368451, how can
BHARAT be coded ?

(A) 965735 (B) 967553 (C) 965573 (D) 965753

According to a certain code,

(D ‘min fin bin gin’ means ‘trains are always late’.

(IT) “gin din cin hin’ means ‘drivers were always punished’.

(ITI) ~ “bin cin vin rin’ means ‘drivers stopped all trains’.

(IV) “din kin fin vin’ means ‘all passengers were late’.

Then ‘hin min kin” would mean

(A) Always late train (B) Passengers are punished
(C) All passenger train (D) Passengers are late

In a certain language, ‘481° means ‘sky is blue’. ‘246’ means ‘sea is deep’ and ‘698’ means
‘sea looks blue’.

What number is the code for ‘deep’ ?
A 1 B) 2 <€ 4 D) 6

Find the missing term of the given series :
1,4,27,16, ?,36,343
(A) 25 (B) 32 (C) 64 (D) 125

Choose the correct alternative from the given ones that will complete the series:
3,5,35,10,12,35, ,
(A) 13,15 B) 17,19 (C) 22,24 (D) 45,47

Choose the correct alternative :

Assam : Dispur : : Nagaland : ?
(A) Bangalore (B) Shimla (C) Gangtok (D) Kohima
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